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CS-07
June - Examination 2017
BA/BSC Pt.lll Examination
Database Management System
Paper - CS-07
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig vod ux ‘o', ‘¥’ IR ‘W fiF @uel # A g1 ue
Gus & MGATTAR AT & IR QIS

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

gug - 3’
(3fcr ofg ITRIT UL )
fder: ! meal & IR AT AT 370 IR Bl TRATAR Tb 9Teg,
U a1 a1 3ffernad 30 oreqi § IR B g ged
2 3l BT gl
1) (i) Whatis database?
SICTSRT T 2
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(ii) Define primary key.
USRI &l bl TR v |
(iii) What is a relation in DBMS?
S dtua T d Retes qm g2

(iv) In mathematical term, table is referred as ................ ?
I DI TOAT T & oo Heffa fasar Srar g2
(v) In mathematical, term, Row is referred as .............. ?
ferd T TIOTT A6 B oo Aeffa fopam Sirar €72
(vi) Write the syntax of UPDATE query.
UPDATE T3t &l Riea™T fors|

(vii) What is ACID property in DBMS?
DBMS X ACID HIuct a7 8 ?

Section - B 4 X7=28
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

(Tvs - 9)
(oTg ST Ue)
fAder: gl TR Ul & IR VI 3T 3o ITR Bl frepay
200 vregi B gRAfAT HIfTT| U UT 7 37 a1 2l

2) Explain the database design process.
SICIeN fESTTS UshA &l AHesy|

3) Differentiate between entity and attribute.

TeIet @ik Uiege ® aeR fatRau
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4) Explain data warehousing.

BTCT INGTSRIT Bl AHATSV|

5) Explain network and object oriented model.

dcgd 3R 3Mieviae RIS Alsel Bl AU

6) What is data dictionary? Explain in brief.
gl feaem™t o g 7 wfard § \meisyl

7) State the properties of transaction.

oM Wadt &t afofg Hife

8) What is Generalization? Explain.
SRATSII a1 8 2 98Ul

9) Differentiate between Ternary relationship and aggregation.

R RAeFfIT 3R vfimed & &9 & 3R GH=Isu|

Section-C 2X14=28
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
14 marks.

(Tvs - W)
(Sef IR o)
fAder : forgl Q weAl & IR SIRTTI 30 IR Y Afereped 500 g
T oRfirT a=AT 81 U6 U9T 14 3T BT 2
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10) Differentiate between:
3R TS P |
(i) Generalization and specialization
SSRGS 3R TSI
(i) Primary key and foreign key
TSR Bl 3R BRA P
11) Define BCNF. How does it differ from 3NF? Explain in detail.
BCNF @I gRuIiY@ @1 I8 3NF & & 7 g? fovar o
SAHAT
12) Discuss the different five join operations:
Theta join, Equijoin, Natural join, Outer join and Semijoin.

5 faffr =1 YR & g ATRIF Pl §d18V|
offeT Sifed, St STigd, -gRe SiigH, 3SR Siig 3iR JH SigH|

13) Explain DBA. What is the role of DBA in DBMS.
DBA & 99130 DBMS H DBA &7 &7 GIRIcd 8T & 2
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